MATEMATIKA 8/2 14 14. 4. 2020

Ponovimo izraze s koreni in potencami.

a) V144 + 3361 = f)5-2% — 10%: (-25) =

b) (V49 +v225) - 11 = g) —2v81 +2°-3° =

c)3v9 — V1625 = h) 8% — 5v81 + (-2)* =

6> +9Va-33 = i) 1000 - 0,022 — /0,16 =
d)2-4% +V357 + 46 — 25 = 1)5V100 + ;416 =

e) (V92 — 56 + V132 —52).3 = N WEAT+ |22y 1+(—5):=
100



Resitve.

a) V144 +3-V361 = f)5-23 - 10%(-25) =
=12 + 349 = =5-8~-400: (-W)~
AL+ 53 = bot 4=
:_C_g - “__ﬁ

| b) (V49 +v225) - 11 = g -2VBl+2%-3* =
= (3145} 4= a-29t8:2%~
®=22-44= = -A8 t 24¢ =
o = 49
¢)3V9 - V1625 = h)8% = 5VB1 + (-2)° =
=53~ &0y - 264-59-8=
«aJ-4ys5-= -Gy~ 45 -8
= 9-20 - -
Sl —
86 +9Wa-3 = i) 1000 - 0,022 - 0,16 =

l =314:2-23 = z £200:0,0004 - O 4=
=D +48-23 = = O N0\
B "2
d)2: 4 +V3 57 +46-25 = i)3V100 +3V16 =

= 2641 VD I54g - 25 < =-f;_-¢.:+.}‘.u:
=128 + Nisaug -25 = : 1325 gy
= A28% V24 - 25 = S A T
= A28+ M-25 = 41y : Sva=E

e)(V97=56 + V137 -57) -3 = oW+ = e T
G T )8 AT+ [ i+ (-

= (§Z5 +iy)- 3= ""‘“%)’W‘
- (5142 3= - (o) : ETE -
= A3-d= :Z.S:{g:
’2;_-1 ,_z,g':%:
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